Bruce Road 15 R. R. No. 2 Cargill, Ontario NOG 1J0

March 16, 2021

Att: Municipality of Brockton Council

This is an application for the financing of a small tile drain project done in April 2020 on the farm Lot 19 Con 13 of the former township of Greenock (on Bruce Rd. 15)

The total amount owing to Don Ferris Construction including taxes is \$9,798.12.

With 25% payment (\$2,449.53 + \$48.59 after rounding loan amout to nearest \$100) being made by me personally I am asking if the remaining 75% (\$7,300.00) could be financed.

The project was mostly the replacement of existing drains that where not working and followed the natural drainage course. None of this expense was for the purpose of land clearing.

A visual inspection visit is welcome at an appointed time.

Don Ferris Construction Drainage Operators Number is DO-1654

address: 762188 Ontario Limited

Don Ferris Construction 1576 Bruce Road 15

R. R. No. 1

Tiverton, Ontario

N0G 2T0



Application for Tile Loan – Form 6 Tile Drainage Act, R.S.O. 1990, c. T.8, s. 3

To the council of the	Munica	polity	of Brock	for)			
Property Ownersh	ip							
If property is owned and the name and o Ownership Type	in partners corporate po	hip, all part esition of th	ners must be liste e authorized offic	ed. If er. O	property is owned by Only the owner(s) of th	a corporatio e property m	n, list the co ay apply for	orporation's name or the loan.
Applicant Mailing	Address ar	nd Primary	Contact Informa	ation				
Last Name				Fig	st Name			Middle Initial
Unit Number	Street/Roa	d Number	Street/Road Nam		15			РО Вох
City/Town Car	8:11				Province On to	ris		Postal Code NOG /JO
Telephone Number	ext.	Cellphone	Number (option	al)	Email Address (optional)			
Location of Land t	o be Drain	ed						
Lot or Part Lot	19		Concession / 3		Geographic Township			
Parcel Roll Number								
Civic Address Unit Number	Street/Roa	Number	Street/Road Nan	ne ∠	15			РО Вох
City/Town Carg.	/1				Province			Postal Code NOG 110
Description of Dra	inage Syst	em						
Please attach a ske A mapping tool is a Approximate Length	vailable at:	www.ontar	he land you are p io.ca\drainage ft/m	lanni	Area to be Drained	luded	15	acre/ha
Proposed Outlet Creek				1 1 1 1 2 2 2 2	icipated Date of Comm Hp1.1 14 2			Date of Completion
Estimated Total C	ost of Drai	nage Syste	em					
Material								
Installation								
Inspection Fee								
Other								
Total Cost - A	tuo (# 97	48.12					
Amount of Loan R	equested*	\$ 730	0.00		* Must be a multiple drainage work.	of \$100 not	exceeding 7	5% of total cost of

Terms of Agreement

In making this application for a loan, I understand and agree to the following:

- a) The granting of the loan is conditional upon all work being conducted in accordance with the Agricultural Tile Drainage Installation Act;
- b) The approval or refusal of the application is at the discretion of council whose decision is final;
- c) I will be advised in writing of council's decision regarding the application;
- d) Should the loan application be approved, an inspector of drainage will complete an Inspection and Completion Certificate and submit it to council;
- e) Council shall levy and collect for the term of ten years, over and above all other rates upon the land in respect of which the loan is made, a special equal annual rate sufficient to discharge the principal and interest of the loan;
- f) The Tile Drainage Act sets out procedural matters which pertain to this application for a loan; and
- g) The sum of all loans issued to me, as an individual, or in my role in a partnership or corporation in this and any other municipality does not exceed \$50,000 for the period of April 1st to March 31st.

Signature of Owner(s)/Primary Contact	Date (yyyy/mm/dd)
	Mar 16/21
Signature of Owner(s)/Primary Contact	Date (yyyy/mm/dd)

Notice of Collection of Personal Information

Any personal information collected on this form is collected under the authority of the *Tile Drainage Act*, R.S.O. 1990, c. T.8 and will be used for the purposes of administering the Act. Questions concerning the collection of personal information should be directed to:

where the form is addressed to a municipality (municipality to complete)

Clerk, Municipality of Brockton, 100 Scott St Box (88 Walkerton, ON NOS-2VO and where the form is addressed to a territory without municipal organization, the Drainage Coordinator, Ministry of Agriculture, Food and Rural Affairs, 1 Stone Rd W, Guelph ON N1G 4Y2, 519 826-3552.

Google Maps



Rd #15

Imagery ©2021 CNES / Airbus, Maxar Technologies, Map data ©2021

Lot 19 Con 13



762188 Ontario Ltd Don Ferris Construction 1576 Bruce Rd 15, RR 1

1576 Bruce Rd 15, R Tiverton, ON N0G 2T0 **Invoice**

Date

Invoice #

7/18/2020

15886

Invoice To

R.R.2 Cargill, ON N0G 1J0

P.O. No. Terms

Description	Qty	Rate	Amount
Put in 6" Drain to creek	The second		0.50.00
14 - Apr - JD 200D Excav - 8.5 hours	8.5	100.00	850.00
Float In and Out	1	120.00	120.00
Tile Used		.05	975 00
Tile - 6" Perf - 700 ft	700	1.25	875.00
Outlet Pipe 6" x 1	1	67.95	67.95
Wrap Coupler - 1 x 6"		4.50	4.50
Couplers - 2 x 6"	2	5.20	10.40
Reducers - 1 x 6" to 4"	-1	5.50	5.50
Tee - 2 x 6" to 4"	2	11.85	23.70
Wrap Coupler - 1 x 8"	1	7.25	7.25
Put in Tile			
15 - Apr - JD 200D Excay - 8.5 hours	8.5	100.00	850.00
Tile used			1
Tile - 4" x 1300 ft	1,300	0.44	572.00
Tees - 2 x 4" Tees	2	5.50	11.00
Couplers - 2 x 4" Couplers	2	2.75	5.50
16 - Apr - JD 200D Excay - 10.5 hours	10.5	100.00	1,050.00
Tile - 2240 x 4" Perf	2,240	0.44	985.60
Tees - 6 x 4"	6	5.50	33.00
Couplers - 2 x 4"	2	2.75	5.50

Please make cheques payable to: 762188 Ontario Limited

E-mail

Fax#

(519)353-1502

GST/HST No.

124652769

Subtotal

Sales Tax

Total

ntario Ltd Ferris Construction 1576 Bruce Rd 15, RR 1

Tiverton, ON NOG 2T0 Invoice

Date

Invoice #

7/18/2020

15886

Invoice To

R.R.2 Cargill, ON N0G 1J0

P.O. No.

Job

Terms

Description	Qty	Rate	Amount
Back fill trenches - Put in 10" Tile			
19 - Apr - JD 200D Excav - 11 hours Tile - 10" Perf - 540 ft Outlet Pipe - 10" Wray Coupler 10" x 1 Insive Couplers 10" x 2 Tile - 8" Perf - 20 ft	413% $ \begin{pmatrix} 11 \\ 540 \\ 1 \\ 1 \\ 2 \\ 20 \end{pmatrix} $	100.00 3.45 150.00 8.50 13.75 2.25	1,100.00 1,863.00 150.00 8.50 27.50 45.00
HST (ON) on sales	rout Full Inchine	13.00%	1,127.22

	cheques payable to: Ontario Limited	Subtotal	\$8,670.90
E-mail		Sales Tax	\$1,127.22
Fax#	(519)353-1502	Total	×,*\$9,798.12
GST/HST No.	124652769	TOM	